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Applications of Slope Intercept Form

Y 1= M X + B
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When a problem involves a constant rate or speed and a beginning amount, it can be written using slope
intercept form. You need fo recognize which value is the slope and which is the yv-infercept.

~mxt+b

Example 1: An airplane 30,000 feet above the ground begins descending at ¥ rate of 2000 feet per minute.
Assume the plane continues at the same rate of descent. The plan’s height and minutes above the ground are

related to each. What is the dlfitude oﬂw w=5 — Yﬁo o€+
. _ i
Independent Quantity: Y = $}= of MiN H' 2eox + 30000 '

Dependent Quantity: l{) - el JDJV\/\.AQ (f“) \(j: —ZODD(S) +730,000
Slope: (@og) : - Z_LCZV\OL'I_\ \j= - ,P OOO "“30, 000

Y—Tnh‘e?cepf: 3 O' DOO -F—\- g < QOI OOO '{'I‘
Equation: ﬁ: ’_me +5Q OOC

>

Example 2: Suppose you receive $100 for a graduation present and you deposit it into a savings account. Then
each week after that, you add $20 to your savings account. When will you have $4602

Independent Quantity:
Dependent Quantity:
Slope:

Y-intercept:

Equation:
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Day 14 — Standard Form of Equations

Scenario: In the mid 1800's, delivering mail and news across the American Great Plains was time consuming
and made for a long delay in getting vital information from side of the country to the other. At %he time, most

mail and news traveled by stagecoach clong the main stagecoach lines at abot 8 miles per hout™ The Pony
Express Riders averaged Gbou‘r he long sfrefch gm_?_frﬁr@&rom the two largest cities on
either side of the plains, ST. sDenver,was a very important part of This trail. ) St LOD\ is _ah'“"w
| 82
a. Use the variable x to write an | b. Use the variable y to write an | c. Write an expression for the
expression to represent the expression to represent the distance that was fraveled
distance the stagecoach was distance the Pony Express rode | using both of these methods on
driven in miles. in miles. one trip.

-‘-‘D‘\—a\l Com bine

10.7y

X= #l’)rs (S-H\ge <)g F hv [loohlj ex\) m
d. Write an equation that represents using both methodsto deliver mail from 3t. Louis to Denver.

ax+107y {782 )— |\ shnnca (k)

Yy=20
a. If the Pony Express Riders rode for|20 hours }rrom St. Louis before handing off the mail to a

stagecoach, how long would it take the sta ecooch to get to Denver? g—b%
X Y Sx +0.77 32
Stmge . [prny ex & x 0. 7?203 182

71 | 20 B+ 24 F182 xz?lm
N\-cp OX = 568

b. If the stagecoach rode for 50 hours from St. Louis before handing off the mail to a Pony Express
Rider, how long would it fake the rider to_get to Denver? I& 7 _ 3'82
Y x+10-’73:'781 Y-

- BE0) +10.71y =732 oY= 10.7
SO |95, i ﬁgéﬂo 91 782 8:3\5-7’%
/07:’?0U:1‘3%Z

c. If mail was delivered by stage oocgjmly how long Id it take the stagecoach to get the
mail from St. Louis to Denver? B

v B 0088 X = a7 8hrs
3 O %? 782
fc:;)IrfnrgSi:_\gE: E)eg\feir\(?:rgby Ponyxp_reéRl e)rs(o_r;ly Bow Io\;g wglylggake atider to gi’r}g mail h
X Y . = - rs
7 =732
O 13.] /%ff +Ho. e Y

14/ _ /0_7
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The Parts of the Pony Express Problem

O,
</

.,
-’
D

The equation, 8x + 10.7y = 782 is in standard form of a linear equation, which is Ax + By = C. Below, describe
what each variable or expression represents in this equation.

x |H hes (sjmgecoac h)

Y :\:L \f\v S (Povwg eXPres S\)

8x ﬁﬁ& miles (\Sbgecoaclf\)

10.7y Total wmiles (Pvag e,%?feSS)
ax+107y | Combined totedl mile [s.c. 1 P.e)

782 M(-[es N¢e Aacl ; S*. Louls —ébehve\r

x-intercept M—I’L;‘: V\TS ﬁ Sﬁge COdCh (’)\&‘OV\Q

\

y-intercept :T:}: hYS 'HY fOV]\j QS(?Y?SS OthV\@
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Finding x & y intercepts

X -intercepts
Written as (a, 0)

The value of the y-coordinate is always 0.

Ve N\
(Cross X -\ S)

Practice: Find the x and y intercepts of each equation. Then graph.

a. 2X-5y=10

x—Tn‘rercep‘r:ﬂz ) y-intercept: X~ o
2X =b&(0)=10) 24075y =D
2x = | 2y
2
= >

X=S
(5,0)

b. 3x+éy=-18
-0
- -]%

xintercept: y-intercept;

33X +4
-3

F3

X = b

(;Q>O>

Y

(%;;42>

%z O

‘(‘éy(j =

-3
(23)

Y-intercepts
Written as (0, b)

The value of the x-coordinate is always 0.

O
18
(&)
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